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.     Inverse Normal Problems A    .
Types of problems

1)  Find the value of z giving the area 

      of 0.3770 between 0 and z.
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2)  Find the value of z giving an area 

     of 0.05 to the right of z

Types of problems

      P(x < k) = 0.84

   P(x > k) = 0.13

 P(-k < x <k) = 0.78
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.     Inverse Normal Problems B    .

A type of car tyre has mean life of 2.3 years 

and standard deviation of 0.4 years.  

If the lifetime of a tyre is normally 

distributed what length of guarantee 

should she offer if she only wants to 

pay out on 2% of tyres produced.

Steps
1) Read the question, Draw a diagram & Shade

2) Find the probability ‘back to the middle’            = 0.5 – 0.02
     to look up in the tables                                       Look up  0.48

3) Look up the probability to get ‘z’                        z =  -2.053
4)     x = ( + z × σ                                                    x = 2.3 – 2.053 × 0.4 

5)  Check answer sensible & Units                          x = 1.4788 years 
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